rsa_encryption.m rsa_decryption.m Call_rsa.m Call_rsa.m ezpowermod.m multiply_aray_mod.m
1

2e=11;
3n=899;

4
5 F = factor(899);

7m = lom(F(1)-1,F2)-1);

9d =find_inverse_mod(11,m);

11 otdgmepastond
1

P nw= 99

— 15 M =605 858 738 01 723 738 173 516 138 206 738 173 468 738 173 01 443 173 01];
16

17%8
—18 %M = [138 173 858 108 296 738 173 468 01 07 380}
19

20%C
— 21 %M = (723 108 338 338 749 173 138 173 468 138 723 723 738 469 173 723 108 173 468 220 44 380 173 44 858 01 723 723];
22

23%D.
24 % M = [749 108 229 173 468 138 723 723 738 469 173 7 380 738 173 605];
5
26%E
— 27 %M = [07 380 738 173 706 738 338 443 738 858 173 138 723 173 1173 443 108 338 468 01 858 173 426 380 1 7;
28

29%F
— 30%M
31

138 07 173 138 723];

+ 5 powmts o

%G

— 33 %M = [7 380 1 443 706 173 749 108 229); M.J Ferw
34
359%H .)(lz

= B e 12252171051 20281021 19195 10 dac M
37

382%1
— 391=(8512121528231518124];
40

41%J
— 42J=[12192018132028128919283151512;
43

44 for m = 1:length(M)
45 B(m) = ezpowermod(M(m),d.n);
46 end

a7

rsa_decryption.m 40,0-1
"rsa_dectyption.m" 51L, 885C written
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